12n0480 (K12n0480)

p \”TQ\E\ Linearized knot diagam
OO A

/35972111341264

/\/3 Solving Sequence

— 39 >4-510>2—>6_>1—>8—>7>12>11>> ¢4, C10
A knot diagranﬂ 3 9 2 5 1 8 7 Cl2 C11

Ideals for irreducible component#ﬂ)f Xpar

It = (—u" +4u® — 9u® + 10u* —6u® +b—u+1, —u” + 4uS — 9u® + 10u* — 7u® + u? + a — u,
u® — 5u” + 13u8 — 19u® + 17u* — 8u® + 3u® — 2u + 1)
I = (—u?a —u? +b, —u'a —uSa+u" —vla+u® +ua+u® —2ula —2ut +ud +a® —uP +a—1,
u® + 2u” + 3uC 4w 4 2ut +ud + 2u? +u 1)
I = (—u" +3u® —2u® +b—u+1, —u” +3u® —u® +u? +a—3u, u® —u” — 3u® + 3u® + ut — 2u® + 3u® — 2u -
I = (5u” — 17u® 4+ 17u® + 28u* — 71u® + 8u? 4 8b + 112u — 104,
176" — 57u’ + 61u® + 92u* — 231u> + 36u? + 32a + 356w — 344,
u® — 5u” + 9u® — 23u* + 24u® + 20u? — 56u + 32)
IF = (2u' 4+ 50" + 5u” — 2u® — Tu” — 8ub — 9u® + 3ut — duPa — 2uP + Tu + 4b — Tu + 1,
6uta — Tutt + - —9a 425, u'? + 3u't + 40 + u® — 3u® — 5u” — 60’ + 3uP — 3u? —2u—1)

I} =(—v?a—u*+b, —vla+u®+a® +2au+2u+a—u—2, ut +ud —u? —u—1)

* 6 irreducible components of dim¢ = 0, with total 72 representations.

1The image of knot diagram is generated by the software “Draw programme” developed by An-
drew Bartholomew(http://www.layer8.co.uk/maths/draw/index.htm#Running-draw), where we modi-
fied some parts for our purpose(https://github.com/CATsSTAILs/LinksPainter).

2 All coefficients of polynomials are rational numbers. But the coefficients are sometimes approximated
in decimal forms when there is not enough margin.
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http://www.layer8.co.uk/maths/draw/index.htm#Running-draw
https://github.com/CATsTAILs/LinksPainter

LIY=(—u"+4u® —9u® +10u* —6u® +b—u+1, —u” + 4u® — 9u® +
10u* —Tu® +u?4+a—u, ud —5u" +--- —2u+1)

(i) Arc colorings

as

0
ag = U

1
a4— u2

w —4uS +9u® — 10ut + Tud —ul 4 u
as = w’ —4uS +9u® — 10ut +6ud +u —1

—u
ao =\ —ud +u

w —5ub +12u® — 15ut + 10w — 202 +u — 1
az wb —3ut +4ud — 202 -1

u” — B5ub + 12u° — 15u* + 10u® — 202 +u —1
a6 = \ —u” +5u8 — 11u® + 13u* — 8u® + 3u? — 2u + 1

u’ —5ub + 13u® — 18u* + 14w — 4u? +u — 2
ap = u® = 3ut +4ud — 2% -1

U
ag— u

w —4uS +9u® — 10t + Tud — w2+ 2u—1
a7 = \y” — 448 + 9u® — 10u* + Tu® — 2u2 + 2u —1

w’ —4uS +9u® — 1lu* + 8u® — 2u2 — 1

a1z = \ 4" — 6u + 14u® — 18u* + 11u? — 4u? + 2u — 2

u” — 5ub + 1200 — 16u* 4+ 11u3 — 3u? — 2
ai] = —uS +3u® —but +4ud — 22 +u—1

(ii) Obstruction class = —1

(iii) Cusp Shapes = 6u” — 30u® + 72u’ — 90u* + 56u® — 4u? — 9



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
c1,C10 u® +3u” + 8ub + 15u® + 19u* + 24w + 18u? +4u + 1
€2, 5, C6 u® + 3u” + 6u’ + Tu® + Tut + 4 + 20 + 1
C11
€3,C4, C8 u® — 507 + 13u8 — 19u° + 17u* — 8u® + 3u® — 2u+1
cy
c7,C12 wd+u” —6u® —9u® + 11wt + 13w + 9 +2u+ 1




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
€1,C10 y® + Ty" + 1245 — 2995 — 93y* + 49> 4+ 17097 + 20y + 1
€2, 05’;? &+ 3y7 +8yS + 15y° + 19y* + 249° + 18y% + 4y + 1
03’04’22 vy + 130 + Ty + 45yt — 1207 + 112 + 2y + 1
7, C12 y® — 13y7 + 76y — 2219° + 245y + 53y° + 51y + 14y + 1




(vi) Complex Volumes and Cusp Shapes

Solutions to I}

V=1 (vol + y/=1CS)

Cusp shape

0.652271 + 0.3607691
0.732717 + 1.0761601
0.005195 + 1.1332801

—4.98976 — 1.409111

—5.93719 4 4.962191

0.652271 — 0.3607691
0.732717 — 1.0761601
0.005195 — 1.1332801

—4.98976 + 1.409111

—5.93719 — 4.962191

—0.260888 + 0.4455721
0.965935 — 0.1964231
—0.302166 — 0.4314301

0.040580 + 1.0388601

0.71134 — 6.687701

—0.260888 — 0.4455721
0.965935 + 0.1964231
—0.302166 + 0.4314301

0.040580 — 1.0388601

0.71134 + 6.687701

0.89585 + 1.267251
—0.831436 — 0.4834311
0.962229 + 0.7711041

10.00520 — 2.024731

3.02254 — 0.140981

0.89585 — 1.267251

= —0.831436 + 0.4834311

0.962229 — 0.7711041

10.00520 + 2.024731

3.02254 + 0.140981

1.21276 + 1.154241
—1.367220 — 0.3163331
0.834742 — 1.0719001

8.1034 — 15.27091

0.20330 + 8.459601

> Q@ S|l @ €| & 8|l & 8| @ €| & €| & &8> & &

1.21276 — 1.154241
—1.367220 + 0.3163331
0.834742 + 1.0719001

8.1034 4 15.27091

0.20330 — 8.459601




IL 1Y =
(—u2a—u?+b, —u"a+u"+---+a—1, u+2u"+3ub+ud+2ut+ud+2u?+u+1)

(i) Arc colorings

w=0)

= (1)
= ()
as = <ua+u)
o=(cita)
uaJru a+u a — U a+u a+u +a
a2 = \ —y’q — 2uba — 2uPa +u® —uwla+ut —ula—au—u? —a
ua+u a+uta—vwla+uta+ud+a
a6 = \ —uSa+u” —ula+ub —2uta+ud —2ut —wPa+ut —a
—u"a —uba —ula + uta + ud — 2uB a+u +ud —au —u?
a1 = \ —y"aq — 2uba — 2uPa + u® — ula + ut —uQa—au—uQ—a
Uu
a8: u
—u a+u” c—a—+1
a7 =
u’ Jru Jru —uda —ut +u
a12 =\ —y"q —ula — u” — 2uPa + uta —uPa+ 3ut —ud —au+1

—uwa+u"+ - —a+1
11 = \ —2¢7 —3uS —4u® +uPa — 3ud — 202 —3u—1

(ii) Obstruction class = —1

(iii) Cusp Shapes = —7u” — 9u® — 8u® + 13u* — 2u3 + 4u? — 5u +4



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
1,10 wl® 4+ 4ut® .o+ 128u + 256
C2,Cs, Ce U16+4u15++48u+16
C11
€3,C4,C8 (u® 4+ 2u" + 3u® + v’ + 2u* + u® + 20 +u+1)?
C9
c7,C12 u® +2ur® o 2u 1




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
c1,c1o Yo + 12y + .- + 237568y + 65536
C2,Cs5,Cq y16+4y15++128y+256
C11
€3,C4,C8 (% + 207 4+ 9y + 119° + 12y* + 119° + 6y + 3y + 1)?
Cg
7, cl2 y'o — 34y .+ 34y + 1




Solutions to I3

(vi) Complex Volumes and Cusp Shapes

V=1(vol + y=1C)

Cusp shape

0.669857 + 0.6187311
= 0.519643 + 0.6187371
= —0.412772 + 1.3004301

—0.68359 — 8.021141

—3.38988 4 11.480111

= 0.669857 + 0.6187311
= —2.17987 — 0.902121
= 0.670058 — 1.0374501

—0.68359 — 8.021141

—3.38988 4 11.480111

= 0.669857 — 0.6187311
= 0.519643 — 0.6187371
= —0.412772 — 1.3004301

—0.68359 + 8.021141

—3.38988 — 11.480111

= 0.669857 — 0.6187311
= —2.17987 + 0.902121
0.670058 + 1.0374501

—0.68359 + 8.021141

—3.38988 — 11.480111

—0.575075 + 0.6040291
—0.206518 + 1.1273301
0.756093 — 0.5897371

0.63668 4 2.584891

—1.22299 — 5.260051

—0.575075 4 0.6040291
= 0.634679 — 0.5637951
= —0.447489 — 1.1164001

0.63668 4 2.584891

—1.22299 — 5.260057

= —0.575075 — 0.6040291
= —0.206518 — 1.1273301
= 0.756093 + 0.5897371

0.63668 — 2.584891

—1.22299 + 5.260051

—0.575075 — 0.6040291
0.634679 + 0.5637951
—0.447489 4 1.1164001

0.63668 — 2.584891

—1.22299 + 5.260051

—0.046597 + 0.8209051
= 0.633387 — 0.0321641
—1.099630 — 0.1033551

4.09203 + 2.717501

9.92245 — 2.296981

= —0.046597 + 0.8209051
= —2.18872 — 1.142931
= 0.711041 + 0.8586641

> Q& €|l & €|l & €| €| 2 €| Q@ & & €|l 2 €|l & €| & &
I

4.09203 + 2.717501

9.92245 — 2.296981




Solutions to I3

V=1(vol + v=1CS)

Cusp shape

= —0.046597 — 0.8209051
= 0.633387 4 0.0321641
—1.099630 + 0.1033551

4.09203 — 2.717501

9.92245 + 2.296981

—0.046597 — 0.8209051
= —2.18872 + 1.142931
0.711041 — 0.858664.1

4.09203 — 2.717501

9.92245 + 2.296981

= —1.04818 4+ 1.20777I

= —0.761541 + 0.4284841
0.999043 — 0.7580291

9.11436 + 8.577511

1.69041 — 4.422961

—1.04818 4- 1.207771
—1.45106 + 0.261171
0.823655 + 1.0480401

9.11436 + 8.577511

1.69041 — 4.422961

—1.04818 — 1.207771
= —0.761541 — 0.4284841
0.999043 + 0.7580291

9.11436 — 8.577511

1.69041 + 4.422961

—1.04818 — 1.207771
= —1.45106 — 0.261171

U
a
b
U
a
b
U
a
b
U
a
b
U
a
b
U
a
b= 0.823655 — 1.0480401

9.11436 — 8.577511

1.69041 + 4.422961
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IIL I¥ = (—u" +3u® —2u®* + b—u+1, —u” +3u® —u® + u? + a — 3u, u® —
u” — 3ub + 3u® + u* — 2ud + 3u? — 2u + 1)

(i) Arc colorings

o ()

ag =
aq =

w —3u® +ud —u?+3u
w =3+ 2l +u—1

w —ul — 4w +3ut P — 2w+ u—1
az = W ut =20 —202 -1

—u’ +ul +4u® —3ut — AP+ 2 —u+1
ag = w +ub —3u® —3ut+2u+u+1

<u7—u6—3u5+4u4+2u3—4u2+u—2>

ap = w4+ ut —2ud —2u2 -1

—u" + 3 — W+ ut—2u—1
—u" 4+ 3ud —ud —2u+1

w —3uh tut+2ud -2 -1
w’ —2u® 4+ 2ut —u® — du? 4+ 2u—2

—u” +ub + 4u® — 2ut — 3w +u? — 4u
ail = W —ut -2t — 22 —u+1

(ii) Obstruction class =1

(iii) Cusp Shapes = 2u” — 2u’ — 12u® + 2u* + 16u® + 4u + 3

11



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
c1,C10 u® —3u” + 8ub — 114® + 15u* — 120 + 10u? —4du + 1
Ca2,Cq W u” + 208 +u® +3ut 20+ 20+ 1
3 u® —u” —3ub 4+ 3u® +ut — 20 + 3% - 2u + 1
C4,C8,Cy W =3 =3+ ut + 203+ 3+ 2u+ 1
C5,C11 W ="+ 28—+ 3ut — 20+ 202+ 1
c7,C12 W —u" =W 3t =3+ 1

12



(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
c1,¢10 y® + Ty" + 285 + 67y° + 99y* + 8493 + 3497 + 4y + 1
2065661 g8 43y 1 8y0 + 11y + 15y* + 12¢% + 102 + 4y + 1
C11
C3,C4,Cg y8_7y7+17y6 —13y5 —7y4+8y3+3y2+2y+1
Co
C7,C12 v =y F4yS =5y 5yt =3y TR 2y 1

13



(vi) Complex Volumes and Cusp Shapes

Solutions to I v—1(vol + /—1C5) Cusp shape

u = —0.030890 + 0.7181971
a= 0.622175+ 1.1731701 3.07236 4 3.688201 | 4.98393 — 5.299861
b= —0.783128 — 0.6759881

u = —0.030890 — 0.7181971
0.622175 — 1.1731701 3.07236 — 3.688201 | 4.98393 + 5.299861
b= —0.783128 + 0.6759881

u= 04720524 0.4701701
a= 152839 +1.410911 0.10782 — 7.158101 2.37662 + 6.443911
b= —0.621805 + 1.1248301

u= 0472052 —0.4701701
= 1.52839 — 1.410911 0.10782 4 7.158101 2.37662 — 6.443911
—0.621805 — 1.1248301

—1.40119 + 0.276821
= —0.990196 + 0.3241971 | —5.44591 + 2.042901 | —7.10763 + 1.33066.1
0.269993 + 0.6040621

—1.40119 — 0.276821
= —0.990196 — 0.3241971 | —5.44591 — 2.042901 | —7.10763 — 1.33066.1

1.46003 + 0.072981
—0.660372 4 0.4093531 | —4.31401 + 5.003041 | —2.25292 — 6.220831
= 0.634940 + 0.9428081

= 1.46003 — 0.072981
= —0.660372 — 0.4093531 | —4.31401 — 5.003041 | —2.25292 + 6.220831

b
U
a
b
U
a
b= 10.269993 — 0.6040621
U
a
b
U
a
b= 0.634940 — 0.9428081
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IV. I} =
(bu”—17ub+- - -+8b—104, 17u”—57ub+---+32a—344, u®—5u"+- .. —56u+32)

(i) Arc colorings

o ()

0
ag = \u
1
a4 = u2
—0.531250u” + 1.78125u° + - - - — 11.1250u + 10.7500
as = gu7+ 187u6+ —14u+13
—u
a0 =\ —ud +u
1.7 _ 9.6 19, 13
3~ T
az = (—%M + %uﬁ + §3u + 11)
—%u7+1§5u6+ ~-—13u-|—277
Qe = —%u7—|—%u6+~-~—7u+4
—0.343750u” —|— 1.34375u® + - - — 9.125()0u -+ 7.75000
ar = —7u +§u6+---— u—|—11
u
a8 == u
3%1u7—§u6+~-~+§u+i
ar = §u7—§u6+ +3u—1
—0.218750u” + 0.968750u8 + - - - — 7.62500u + 8.75000
ary = —3uT 4 Sub + - —%u+3
—0.218750u7 + 0.718750u’ + - - - — 5.12500u + 4.25000
an = SuT + b+ —11u—|—11
(ii) Obstruction class = —1

(iii) Cusp Shapes = 8u” — 30u’ + 34u® + 46u* — 132u® + 26u? + 204u — 198

15



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
€1, €10 (u* +u® 4+ 3u? +2u +1)2
C2,C5,Cq (u4 — Wl w4+ 1)2
C11
€3, ¢4, C8 u® — 5u” + 9ub — 23ut + 24u® + 200 — 56u + 32
cy
c7,C12 u® — 5u8 — Tu® + 3u* + 2003 4 23u? — Hu + 2

16



(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
c1, €10 (" +5y° + 7y + 2y + 1)°
€2, 65, C6 (' + % +3y° + 2y + 1)
C11
€3,C4,C8 y® —Ty" + - — 1856y + 1024
cy
7, C12 y® —10y" 4 31y° — 33y° + 63y* — 352¢° + T41y? + 67y + 4

17



Solutions to Ij

(vi) Complex Volumes and Cusp Shapes

V=1 (vol + y/=1CS)

Cusp shape

u = —1.307400 + 0.4878231
a = —0.954979 — 0.1712411
b= 0.351808 + 0.7203421

—5.35681 + 2.830211

—5.65348 — 9.817491

u = —1.307400 — 0.4878231
—0.954979 + 0.1712411
0.351808 — 0.7203421

b:

—5.35681 — 2.830211

—5.65348 4- 9.817491

1.408170 + 0.0872911
a = —0.681944 — 0.9255461
b= 10.351808 — 0.7203421

u =

—5.35681 — 2.830211

—5.65348 4 9.817491

u= 1.408170 — 0.0872911
a = —0.681944 + 0.9255461
0.351808 + 0.7203421

—5.35681 + 2.830211

—5.65348 — 9.817491

1.30983 + 1.019571
= 1.331510 + 0.4228101
—0.851808 + 0.9112921

8.64668 — 6.327931

1.65348 + 5.129601

1.30983 — 1.019571
= 1.331510 — 0.4228101

8.64668 + 6.327931

1.65348 — 5.129601

1.08940 + 1.345211
= 0.680418 4+ 0.3767351
= —0.851808 — 0.9112921

8.64668 + 6.327931

1.65348 — 5.129601

= 1.08940 — 1.345211
= 0.680418 — 0.3767351

b
U
a
b
U
a
b= —0.851808 — 0.9112921
U
a
b
U
a
b= —0.851808 + 0.9112921

8.64668 — 6.327931

1.65348 + 5.129601
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V. I} =
2ut+5u%+...+4b+1, 6ulta—Tu'+-.-—9a+25, u'?+3ult4...—2u—1)

(i) Arc colorings

o ()

ag =

aq =

W= I

ay =
ag =
a7 =

(
(
(
(-
TR HEE IR
( 1
(
(
(
(

—2ulla+ tull + . 4 3au—3u
ay; = 71u11a+%u11+~~71u71

1

(ii) Obstruction class = —1

(iii) Cusp Shapes = u!! +2u'® + 4 — 3u® — 5u” — 5u8 — 4u® + Tu* + 5u® + 6u? — 4u — 3

19



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
€1, €10 (u* +u® 4+ 3u? +2u +1)°
C2,C5,Cq (u4 — Wl w4+ 1)6
C11
€3, €4, 8 (u? 4 3u' + 40" 4 u® — 3u® — 5u” — 6ub + 3u3 — 3u? — 2u — 1)?
cy
cr,cra u? + 3u” + -+ 2368u + 1016

20



(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
€1, €10 (y* + 5y + 7y% + 2y +1)8
C2,Cs, Ce (y4+y3+3y2+2y+1)6
C11
C3,C4,C8 (y12_y11++2y+1)2
cy
24 23
c7,C12 Yt —3y™ 4+ .-+ — 1653152y + 1032256

21



(vi) Complex Volumes and Cusp Shapes

Solutions to I VvV—1(vol + /—1CS) Cusp shape

u = —0.535167 + 0.9294381
a= 0.528827 4 0.7112241 1.64493 + 1.748861 | —2.00000 + 2.343941
b= 0.351808 — 0.7203421

u = —0.535167 + 0.9294381
1.197710 — 0.1104121 1.64493 + 1.748861 | —2.00000 + 2.343941
b= —0.851808 — 0.9112921

u = —0.535167 — 0.9294381
a = 0.528827 —0.711224] 1.64493 — 1.748861 | —2.00000 — 2.343941
b= 0.351808 + 0.7203421

u = —0.535167 — 0.9294381
= 1.197710 + 0.1104121 1.64493 — 1.748861 | —2.00000 — 2.343941
—0.851808 + 0.9112921

= 0.056867 + 1.0895501
0.929613 + 0.3750441 1.64493 + 4.579071 | —2.00000 — 7.473541
—0.851808 — 0.9112921

0.056867 + 1.0895501
= 0.066659 — 1.0934901 1.64493 + 4.579071 | —2.00000 — 7.473541
= 0.351808 + 0.7203421

= 0.056867 — 1.0895501
0.929613 — 0.3750441 1.64493 — 4.579071 | —2.00000 + 7.473541

0.056867 — 1.0895501
0.066659 + 1.0934901 1.64493 — 4.579071 | —2.00000 + 7.473541
0.351808 — 0.7203421

1.15037
—1.58111 + 0.544331 —5.35681 —5.65350
0.351808 + 0.7203421

1.15037
= —1.58111 — 0.544331 —5.35681 —5.65350
= 0.351808 — 0.7203421

b
u
a
b
u
a
b
u
a
b= —0.851808 + 0.9112921
u
a
b
u
a
b
u
a
b
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Solutions to I¢

V=1(vol + y/=1CS)

Cusp shape

0.688565 + 0.4229671
1.64391 + 0.263081
—0.851808 4 0.9112921

1.64493 — 4.579071

—2.00000 + 7.473541

0.688565 + 0.4229671
0.24848 — 2.510531
0.351808 — 0.7203421

1.64493 — 4.579071

—2.00000 + 7.473541

0.688565 — 0.4229671
1.64391 — 0.263081
—0.851808 — 0.9112921

1.64493 + 4.579071

—2.00000 — 7.473541

0.688565 — 0.4229671
0.24848 + 2.510531
0.351808 + 0.7203421

1.64493 + 4.579071

—2.00000 — 7.473541

—0.293143 + 0.3691691
0.645814 — 1.1173501
—0.851808 4 0.9112921

1.64493 — 1.748861

—2.00000 — 2.343941

—0.293143 4 0.3691691
0.25546 + 4.352841
0.351808 + 0.7203421

1.64493 — 1.748861

—2.00000 — 2.343941

—0.293143 — 0.3691691
0.645814 + 1.1173501
—0.851808 — 0.9112921

1.64493 + 1.748861

—2.00000 + 2.343941

—0.293143 — 0.3691691
0.25546 — 4.352841
0.351808 — 0.7203421

1.64493 + 1.748861

—2.00000 + 2.343941

—1.56338

= —0.397494 + 0.2947191 | —5.35681 —5.65350
= 0.351808 + 0.7203421

= —1.56338

= —0.397494 — 0.2947191 | —5.35681 —5.65350

> Q@ €| & €| & €| & €| 2 8| Q@ 8| @ €|l & €|l & €| & &
Il

0.351808 — 0.7203421
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Solutions to I V—1(vol + v/—1CS) Cusp shape

u = —1.21061 + 1.154501

a= 0.655793 — 0.3833391 8.64668 1.65348 + 0.1
b= —0.851808 + 0.9112921

u = —1.21061 + 1.154501

a= 1.306340 — 0.4142261 | 8.64668 1.65348 4+ 0.1
b= —0.851808 — 0.911292]

u = —1.21061 — 1.154501

a= 0.655793 + 0.3833391 8.64668 1.65348 + 0.1
b= —0.851808 — 0.911292]

u = —1.21061 — 1.154501

a= 1.306340 + 0.4142261 8.64668 1.65348 + 0.1

b= —0.851808 + 0.9112921
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VI.
I} = (—u?a—u?+b, —uda+u®+a®+2au+2u’+a—u—2, u*+ud—u?—u—1)

(i) Arc colorings

- )
|

)
Wu)

¢
(v
(
o= (o)
( Mﬁuiafim)
(1
(-
(
-
(-

ag =

ag =

—ud 4+ a+2u
w?a—au—u+1

ay =

—U a—i—au—u
Sa—uwr4+au+a+u

U

U

U
wda — ula + ud +au+u2+a—u—1>

ar = —au

—ua — 2u
a2 = 2ula —2ud +au+a+u

—uda —vla+a—2u—1
ail = —uda —ud —1

(ii) Obstruction class =1

(iii) Cusp Shapes = 3u? — 2u? — 11u — 1
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(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
c1,C10 u® —3u” +8uf — 13u® + 15u* — 13u® + 8u? — 3u +1
Ca2,Cq Wru + 20+ + 3t 20+ u+1
3 (u +u? —u? —u—1)3
C4, C8, Cy (u* —u® —u® +u—1)?
C5,C11 W+ 2 — W3t -+ 2 —ut 1
c7,C12 wd+2uS +4u® +2ut + 20 41
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(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
c1,C10 S+ Ty" +16y5 +9y° — oyt + 93 + 16y + Ty + 1
2656 y® 3y +8y% +13y° + 15" + 13y° + 852 + 3y + 1
C11
C3,C4, C
3,C4, C8 (* —3y° + 4% +y+1)2
Cg
c7,C12 y8—|—4y7—|—8y6—6y5 — 6yt + 4y + 57+ 2y + 1
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(vi) Complex Volumes and Cusp Shapes

Solutions to I¥ V—1(vol +/=1CS) Cusp shape
u= 1.17872
a = —0.859870 + 0.7059671 | —6.97792 —11.8320
b= 0.194695 + 0.9808641
u= 1.17872
a = —0.859870 — 0.7059671 | —6.97792 —11.8320

b= 0.194695 — 0.9808641

u = —0.332924 4 0.6707691
a= 1.374520 — 0.1158641
b= —0.856931 — 1.0212407

2.07364 4 2.527421

4.57778 — 6.721481

u = —0.332924 4 0.6707691
a = —1.29620 — 1.304431
b= —0.482162 + 0.5746141

2.07364 4 2.527421

4.57778 — 6.721481

u = —0.332924 — 0.6707691
a= 1.374520 4 0.1158641
b= —0.856931 + 1.0212401

2.07364 — 2.527421

4.57778 + 6.721481

u = —0.332924 — 0.6707691
a = —1.29620 + 1.304431
b= —0.482162 — 0.5746141

2.07364 — 2.527421

4.57778 + 6.721481

u = —1.51288

a = —0.718456 + 0.3341027 | —3.74910 0.676060
b= 0.644397 + 0.7646911

u = —1.51288

a = —0.718456 — 0.3341021 | —3.74910 0.676060

b= 0.644397 — 0.7646911
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Crossings

VII. u-Polynomials

u-Polynomials at each crossing

C1,C10

(u* +u® 4+ 3u® +2u+1)8
8 —3u” +8u® — 13u® + 15u* — 13u3 + 8u® — 3u + 1)
u® — 3u” 4+ 8u® — 11u° + 15u* — 120 + 10u? — 4u + 1)
+3u” + 8u® + 15u° + 19u* + 24u® + 18u? + 4u + 1)

(u
(
- (u®
(u'® 4+ 4u'® + -+ 128u + 256)

C2,Ce

(u* —u® 4+ u® + D3 u® +u” + 2ub +u® + 3ut 4P 420 Fu 1)
(u® + u” + 208 + u® + 3ut + 203 + 2u% +1)

(u® 4 3u” + 6ub + U 4 Tut + dud + 20+ 1)

(u'® + 4u'® + -+ 48u + 16)

C3

(u T3 2—u—1)2
(u® = 5u” + 9ub — 23u? + 24u3 + 20u* — 56u + 32)

(u® = 5u” +13u® — 190 + 17u* — 8u® + 3u? — 2u + 1)

c(u® —u” = 3u® 4 3u® + ut — 2u® + 3u? — 2u+1)

(u® 4 2u” 4+ 3ub +ud 20t w4 20w+ 1)?

C(u'? 4 3utt + 4u - u® — 3u® — 5u” — 6uS + 3u® — 3u? — 2u—1)2

C4, C8, Cy

(u —u? —u® 4 u —1)?

(u® = 5u” 4 9ub — 23u* + 24u3 + 20u — 56u + 32)
~(u8—5u 4+ 13u® — 19u° + 17u* — 8u® 4 3u? — 2u + 1)

(u® + ub — 3u® +ut + 20 4 3u? + 2u+ 1)

(u® +2u” + 3u® +u® + 2u* + v + 20 +u+1)?

C(u'? + 3ut + 4uO - u® — 3u® — 5u” — 6uS + 3u® — 3u? — 2u —1)2

Cs5,C11

(u* —u? +u® +1)%(u® —u” +2u® —u® + 3u* — 2u® + 20 4+ 1)
c(u® =" 4208 — P 4 3ut —ud o 2u® —u 1)

(u® 4 3u” 4 6ul 4 Tud + Tut 4 20+ 1)

S(u'® 4 4u!® + - 4 48u + 16)

C7,C12

(u® — 5u’ — Tu® + 3ut 4 20u® + 23u? — 5u + 2)
B 20 e ) U — w3t - 3ud Fu? )
S(u® +u” = 6u® — 9u® + 11wt + 130 4 9u? 4+ 2u + 1)

(w420t 20+ 1) (u + 3u 4 - 4 2368u 4 1016)
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Crossings

VIII. Riley Polynomials

Riley Polynomials at each crossing

C1,C10

(y* +50° + T2 + 2y +1)8

+ 7y +12y5 — 29¢° — 93y* + 4y3 + 170y% + 20y + 1)
+ 7y 4+ 16y° +9y° —y* + 93 + 1692 + Ty + 1)

8 1 7y" +28y5 +67y° + 99y + 84y 4 34y® + 4y + 1)
y'% +12y" + .- + 237568y + 65536)

(°
(°
(y
(

C2,Cs5, Ce

C11

(y*+9° + 32 + 2y +1)8

y® + 3y +8y° + 11y° + 15y* + 129 + 10y + 4y + 1)
y® +3y" +8y° +13y° + 159 + 135> + 82 + 3y + 1)
y® +3y" +8y° + 15y + 19yt + 2497 + 18y + 4y + 1)

(
(
(
("0 + 4y 4 - 4 128y + 256)

C3,C4,C8

C9

(v' =3y° + > +y+1)?

(Y =Ty 17y° = 13y° — Tyt + 8y + 3y + 2y + 1)
(Y =Ty 4 — 1856y + 1024)

(P T 130+ Ty 45yt — 1297 4 112 4 2y 4 1)
(427 + 90 + 11y + 129" + 1197 + 6y + 3y + 1)°
Sy -yt 2y +1)2

C7,C12

(y® — 13y" + 7695 — 22135 + 245y* + 53y + 51y? + 14y + 1)
(y® —10y" + 315 — 33y° + 63y* — 352¢° + T41y® + 67y + 4)
S =y + 4y =5y 5yt =3P+ T+ 20+ 1)

(Y 4y + 8y — 6y° — 6yt + 4y + 52 + 2y + 1)

(% =34yt 4+ 34y + 1)

S(y* = 3% + - — 1653152y + 1032256)
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